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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1

Ans

Q.2

Ans

Q3

Ans

Q4

ST HTEHT AT G0 AT e 1 bl 20 Tl 3 T HT Fehel §1 3 TG AT 4 3T 5 QoS! i0Moge4499609
FY #I fFaa Gat A FT T %7 Not Attempted and Marked

Status : .
For Review
Five men or ten women can complete a job in 20 days. In how many days can 3 menand 4  Chosen

women complete it? Option : ™~
v 20
3. 25
<310
X415

33T ISR U FIE H FHs Areadw I o1am SA1dT 82 Question ID :9864493378
' Status Not Attempted and Marked For

The egg is carried from the ovary to the womb through: ‘Review

Raarfeer Ontion =~
¥ | the oviduct

I THH
?('2. the vas deferens

areATerey AT
?{'3, the cervix

Tetrer
4. the uterus
T -19 r Question ID :9864493126
AT AT TF ST T HEAT 1.6 x 1070 CE, FTANHA Y 1 A Tagga amr vanfea

Status :Answered

M%,ﬁm%wagmﬁmmﬁmﬁﬂmmsﬁﬁhaﬁm Chosen Option :3

Assuming that the charge of an electron is 1.6 x 1071° C, the number of electrons passing
through a section of wire per second when the wire carries a current of 1 A is:

v 6.25x 1018
X5 0.625 x 1017
X3 1.6 %101
X4 1.6 x 1018

Question ID :9864494376
Status :Answered
Chosen Option :1
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Ans

Q.5

RrrFRm AR o R IR & & ® s 7 8 B === &=
THEIT & U ITeld far = @ 2

FYUA:
7% A AT & FETETT 7 g F FROT T FET TR F SEE
gZdTer 9T Tl AT

HIATS:
1. 77 35 HTHT P I o], foharT =i =nfee |
2. WY AT TR FAAET FF e Frar s fge

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:
All the central government employees went on strike due to non-implementation of 7th
pay commission.

Course of Action:

1. 7th pay commission should be implemented immediately.
2. All the central government employees should be suspended.

3aer 1 & 9ol g ar gl
7 Only 1 follows.

1 3k 2 T F 9T gar B
#». Both 1 and 2 follow.

Fael 2 FT 9ol FT gl

7<3 Only 2 follows.
A1 & 1 &7 IAT 2 H Irele aiar gl
4 Neither 1 nor 2 follows.

Question ID :9864494176
Status :Answered

Chosen Option :4
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Ans

Q.6

Distribution of various Minerals in Human

Body
Sodium

B%

Potasium g5 ‘
258
Iron

18% Magnesium

0%

Calcium

®Calcium @ Magnesium o loa B Potasivm W Sodium

Distribution of various minerals in the human body- #aT iR #F fRafa==
feew & fawor

Calcium- e

Magnesium- HIAITRITH

Iron- St&T

Potassium- areferzrs

Sodium- \If3TH

f&ar mar % AEe iR F @faat f A # @ § 1 AT ¥R 7 FiT
¥ ol Wi $7 3EeTehdl FA Tiderd # gar g2

Distribution of various Minerals in Human

Body
Sodium
B%

e
U=

Calcium

Potasium g5 ‘
258
Iron

18% Magnesium

®Calcium @ Magnesium o loa B Potasivm W Sodium

The given graph shows the distribution of minerals in the human body.
Which two minerals are required almost in the same percentage for the human body?

e dd 3R AfzTs
1. Calcium and sodium

o dd 3R AR
#, Calcium and magnesium

A 3R derfe
<3 Magnesium and potassium

g 3R gefima

4 Sodium and potassium
Question ID :9864492495
Not Attempted and Marked For
‘Review
Chosen--

Status
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mmmﬁ'3x+y=l3ﬂTpx+2y=5# Option :
S T s TRIAT ger 8T e, T

The pair of linear equations 3x +y = 1 and
px + 2y = 5 has no finite solution if

Ans ‘Kll. p=6

X, 0<p<6
o, P=6
Xy P70
Q7 g9 RIEgd & TAH 9T HA dTell Tar 34@% FT =T Question ID :9864493794
=2

Status :Answered
Chosen Option :3

T

?

1 2 3 4

Choose the correct figure that can replace the question mark.

L

9

[
[

1

Ans 2’\1 2
<, 3

?{'3. 1

4
W, o4

O Il # ¥ FT A ReT RT A oRg & W qUOT Ui B qeliar §  Queston D 98644948

Status :Answered

{m Fr m} F? Chosen Optioti2

HAPPY

Select the option that depicts the correct mirror image for the given word (ignore the size).

HAPPY
Ans  #; ABBAH
<, YPPAH
<3 HVbbA
v, Y99AH
Q9 Question ID :9864493792

Status :Answered
Chosen Option :3
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geed e & TUe T AR Al HEr Hpfa # g |

o | o
I I A
¢ |-
RIRA[SAS

A B

Which of the four figures can replace the question mark?

o o | o
RARE
+

o

&

._
—o
A B C D
Ans ’KII.D
<, B
i3 A
<4 C
Q.10 WW##WWMWW%WW?WW% Quesﬂ;’“.9864492571
4 HEFAET § | T 13T T SATH 21 HEHATE g1 $H T 8 & ol H@eTqS AT a7 ¢ Not Attempted and Marked

"For Review

HTHT 4T %7 Chosen

A spherical glass vessel has a cylindrical neck 7cm long and 4cm in diameter. The Option:
diameter of the spherical part is 21em. Find the quantity of water it can hold.

4932 ue TR

71 4932 cm®
4930 o TEHRET

7> 4930 cm®
4939 T HEHET

3 4939 cm?

4929 BT T
<4, 4929 cm®
Q.11 "%H T STEAP EnﬁT:F WL ﬁ;ﬂ- ; 3@‘? IOt ﬁTIT Question ID :9864492324
e 2 LR T & faw Status :Not Answered
AT %‘7 Chosen Option :--

The Shanti Swarup Bhatnagar Prize is annually awarded for outstanding achievement in
which area?

AT FHer el
#< 1. Tribal Art Forms

ARAE AT wEE
#<,_ Indian Classical Music

Ans

Ans
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g
<3 Literature
o 3k T

', Science and Technology
Q2 7 # ¥ FiF ¥ Us H 39T HIS: T pH FF A & T v Question ID :9864493589

Status :Answered

Thad * ®9 F fFFr a7 Chosen Option :2
Which one of the following is commonly used as an indicator to measure the exact pH?

SeATeTmHTeN (Phenolphthalein)
#< | Phenolphthalein
oremw
Klz. Litmus
s3faa
K3, Eosin
EEELEIEC T
W 4. Universal indicator

Q.13 250 FT 46% ﬁ;ﬂa; T %—9 Question ID :9864493027
Status :Not Answered

46% of 250 is equal to: Chosen Option :--
Ans % 115
<, 92
<3112
74 1035
QM gRE & Fafeifee gy wfe #la § Sgia 2018 & arer F arer FRER QUestiongga407305

IgoT & 22 Status Vot Attempted and Marked

"For Review
‘Who is the newly appointed Foreign Secretary of India who took charge in early 20187 Chosen

e %}TﬂT mee Option :
1. Nitin Kumar Yadav
39T AT
75, Usha Rani
s T e
«'; Vijay Keshav Gokhale
ST FEL eaer
%4 Rajni Sekhri Sibal
QIS 2r argw, oy il & F\ S gT A 2 3 3w F ek B @ e A Q“es%"?9864492651

. . . . . Not Attempted and Marked
&, Sfafe T drE 9189 <l @ 6 B F @relr & T & a*q'a'nﬁ'ré CEUE Status :p - Review

Chosen
off S et aTgat B v wrr e R @ S F O avE s F fheer 0PNV
HAT EET?

Ans

Ans

Two pipes, when working one at a time can fill a cistern in 2 hours and 3 hours,

respectively while a third pipe can drain the cistern empty in 6 hours. All the three pipes

were opened together when the cistern was % full. How long will it take for the cistern to

be completely full?
1 u¢ 15 fA=e

%1 1 hour 15 minutes

Ans
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Q.16

Ans

Q.17

Ans

Q.18

Ans

Q.19

Ans

Q.20

1oe 30 =e

Kz, 1 hour 30 minutes

19¢ 20 &=e
K3‘ 1 hour 20 minutes
19e
?"\"4, 1 hour
A%$1%MBH#E&NC=3!0D+KP Ques;g‘?9864493828
1H RO (E:‘IF-fr mﬁ) deb g JeaTadl eI AT HeF AT e foeprer Status ;Not Attempted and Marked
R ST & &€ AR Y e 9E B @ g Chosen e
A$1%MB#6&NC=3!0D+KP Option :
Starting from 1 till O (inclusive of both), if every alternate letter or number or symbol is
dropped then the fifth term from right is:
XM
X, C
X, &
W, H#
TR YT Y IHaT FT Fg FIT AT & ? Q“esii[‘)“?9864493384
What is the Centre of Curvature of a spherical mirror? Status Vot Attempted and Marked
. For Review
Ig MBI GUUT T FeAtag & g | Chosen
Option :

#< Itis the midpoint of a spherical mirror.
TE 3 WIEel 7S & g BT § ToIHe! MR EU0T T AT 8l § |

', Itis the centre of a hollow sphere of which the spherical mirror is a part.

<3
T Feddl UUT & HET el W vs v fig § omw werer $r Bt ar @
et g & |
It is a point _ﬁ'om which the rays of light appear to be coming from on the principal axis of
a convex mirror.

X4,
Ig ACT 38T W T fag grar ¢ forwsd & 7&7 37 & WAaY e &
fomot wfafde & g e & |
Tt is the point on the principal axis through which rays of light parallel to the principal axis
pass after reflection.

T UE H T & 5:49 FT WHT g T & ar ue 3k Fae &r Qfl;é’ F = 54 Ques}gf9864492813

BT IUT T AT FT EIH T? Status Not Attempted and Marked
"For Review

What is the measure of the smaller of the two angles formed between the hour hand and Chosen
the minute hand of a clock when it is 5:49 p.m.? Option ;™

¥ 119.5°

<2 120°

73,1205

<4 119°
e m‘ [ m' T ¥ Question ID :9864492646

FT 26% 65 %I F Status Not Attempted and Marked For

26% of a number is 65. What is the number? ‘Review

Kﬂl 260 Chosen__

2(\"2' 40 Option :

<3.50

vy 250

Question ID :9864493725
Not Attempted and Marked For

Status Review
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T 9747 X AE FET 4 F STH H THST el 2T B
FF T $T FIW FH OHEI GIRT THS AT T4

16

W Number of students

14

12

10

8 -

The bar graph represents the favourite fruit of grade 4 students.
‘Which fruit among the given below was chosen by the least students?

16

W Number of students
14

12

10

8

@ &
QQ s
L MC

T

1. Apple
HTH

<, Mango
T

'3 Grapes
I

#4, Orange

Q21 FrEpRE T GIAIET F=4 §?
‘What is the atomicity of Phosphorus?

[ER:EC:IECED

'Jl, Tetra-atomic
Tg-TAvaH

<, Poly-atomic
Tehel GIATOGH

X3, Mono-atomic
CAERL R IEEED

4. Di-atomic

<b
<) <+ q\(&

Ans

Ans

Q22

Chosen
Option :

Question ID :9864493527
Status :Answered
Chosen Option :1

Question ID :9864493512
Status : Answered
Chosen Optionl
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Ans

Q.23

Ans

Q.24

Ans

Q.25

FART Sl & AN YT I 3HeHT - HodT R GV S Fhod § e e1d

et & & @l & o7

Metals can be given different shapes according to our needs because they possess the

properties of:
3macadfaTar 3T g==ar (Malleability and ductility)
+'| Malleability and ductility
d=gar AR Areedr (Ductility and conductivity)
/< Ductility and conductivity
A faaar 3R AERITAE (Malleability and sonorosity)
3 Malleability and sonorosity
lelehT IR AARITHET (Conductivity and sonorosity)
4 Conductivity and sonorosity
frg aRdT HFRar Fr Shasl # oM 'TAfDT g @A 272
‘Which Indian actor’s biography is titled ‘ Anything but Khamosh’?
faaite wear
<1 Vinod Khanna
e R
, Shatrughan Sinha
g
<3 Dharmendra
U= FesiT

<4 Raj Babbar
30 AT # 99 HY & I 92 ¥ &% 30 yeR ¥ FEed &, SR g
9E 9 UE § HEOT g

W:EI“H::‘TEIT:

Select the option that is related to the third term in the same way as the second term is
related to the first term.

Work : Joule :: Power :
EIF

V| Watt
SIESE

Kz, Strength
Tiee

X3 Walt
A

K..4, Ohm

Question ID :9864492313
Status :Answered
Chosen Option :2

Question ID :9864494383
Status :Answered
Chosen Option :1

Question ID :9864493670
Status :Answered
Chosen Option :4
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s @ W AR #¢ 3k Tl o & e @ sla-ar sgae 7 g

o
TE=T e 7 v R & & @i sarcmiEr & 3{TEoT B wEr W
T fear AT

AT
1. Afgonait # graw Feet
2. FATHR F HAHGT FT FF FIT I TFar T

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
The Supreme Court has decided that all rapists will be hanged till death.

Assumption:
1. Women will get protection.
2. The number of rapes cases can be reduced.

Aar1dkad2ese
2{"1. Neither 1 nor 2 is implicit
ST AT 1 T 8
#<, Only assumption 1 is implicit
ST AT 2 T g
« 3 Only assumption 2 is implicit
1 3k 2 2= T ¥
K4. Both 1 and 2 are implicit
Q26w e dlg fivey o, Brmer Awier F dtg omwst F sremma R o Question ID :9864492085

Status :Answered

3T 627 T 643 £HET I HRT & 17 ¥ Fr I A F B gf@g F Chosen Option :1

was a Chinese Buddhist monk, who studied Buddhist Seriptures at Nalanda and is
famous for his 17 year long trip to India between AD 627 to 643.

REGIIED
+'| Hiuen Tsang

AT

<, Megasthenes

WITgaTT
<3 Fa-hien
3T TFaAT

<4 Al Beruni

Q27 R+JM2$#QR?+0O@7F3 Question ID :9864493773
Status :Not Answered

. Chi Option :--
FR BT Heha H ST T T T o osen Bption

R#+ : J?F : $0J :

R+IM2SH#QRI™O@TF3

Ans

Ans

Using the above sequence fill in the blank
R#*: I7F : 1 $O7T
Ans &1 MOF
10/26



o QF #

<3, OF »
X4 #@3
Q28 12 + 3(_2 ® 3) - (13 - 6) T HIT 4T ?F'TI'" Question ID :9864494046
Status :Answered
What is the value of 12 +3(-2 % 3) - (18 + 6)? Chosen Option :2
Ans &K -5
<29
<35
v, -9
QL Fept & T TEG F 12% @A F AT 220 F a7 fazm 10% amr & e 5@ Ques;g?gg64492768
SH 9 F HeT T Thger Ferar anfge ar? Status -Not Attempted and Marked
= ° ’ "For Review
Junko sold an item for ¥220 at a loss of 12%. By how much should she have raised the Chosen__
price to make a profit of 10%? Option :
Ans Kl T25
<o 348.40
v; I55
X, 344
Q30 Q“‘“’S}gf9864493752
Status :Answered
Chosen
Option :
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A T a9 3G #H Sl I TIT 34 Jsihar &1 ufafafdcg sx wr g ar
Tyeie 8 Afda srqeanfa =@ 82

] *  Boys () [, Athletics

/\ — Giirl g ] — Disciplined

-syoBEHh
-scitelhtATE=TST
-sIriGersTeRar
-denilpicsiDsﬁ_-ID'Qnﬁ?-r

In the below Venn diagram which number space represents the girls who are athletes but
not disciplined?

| ] —— Boys (_ _) —_— Athletics

/\\ = Chrl = |:] —- Disciplined
Ans X1 8
<53
Vi3 4
4.7
Q3! oradr 2018 & #RT Fr T&T #N i 87 Question TD :9864492207

Status :Answered
‘Who is the Defence Minister of India as of February 2018? Chosen Option :2

A AT amedr
/< 1. Maneka Gandhi
e draae
v, Nirmala Sitharaman
FAT AT
?’\'3, Uma Bharti
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AT TS
2{'4‘ Sushma Swaraj
Q32 faw 7T 3R WA & FTE FFaed & HeR W e wre & afd sage
He FHE & &

ABC : Z¥YX :: DEF :

Select the missing term based on the given related pair of letter clusters.

ABC : ZYX :: DEF :
Ans ¥ WVU
<o WUV
<3 VUW
<4 UVW

Q.33 qﬁmaﬁmwﬁmm&mmwmwm_l

If a body is whirled in a circle, then the work done on it
e =& far o7 gar &
1. cannot be determined
T §

Ans

v, is zero
HOTCHS &

X5 1s negative
TRNICHS &

X4 1s positive

Q34 gteft 7 dleraer R TAfET F & e & 39ar canr R e sTashdar .

Dwarfiiess can be controlled by treating plants with:

ufAfoI (Ethylene)
| Ethylene
HEIIST=T (Cytokinin)
X, Cytokinin
31TFET (Auxin)
<3, Auxin
e 3757 (Gibberellic acid)
+ 4 Gibberellic acid
Q35 1.004 — 0.4 BrEF FTETE?

1.004 — 0.4 is equal to:
Ans X1 0.640
21
23, 0.006
V4 0.604

Q36 arfcrefrer Shamoy YT T T el A1 &

The motile germ cell is called a/an:

Ans

Question ID :9864494115
Status :Answered
Chosen Option :1

Question ID :9864493621
Status :Answered
Chosen Option :2

Question ID :9864493176
Status :Answered
Chosen Option :2

Question ID :9864492481
Status :Answered
Chosen Option :4

Question ID :9864493217
Status :Answered
Chosen Option :1
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Ans

Q.37

Ans

Q.38

Ans

Q.39

Ans

R IIAF

«'| Male gamete
AT S

2

Kz, Gamete
HTST gmm

3 Female gamete

HEERHAE

< 4 Isogamete
il 3R FeErer & ar fHaor g1 gger fAsor F oel-weEre o 50 1 @

IR FE A 3 1 F IO 1§ 3 : 2 F AT H AT B s g

sifam ot 7 ol ;. Tearer # gaa fraer 82

Two water-squash mixtures, the first with a water-to-squash ratio of 5 : 1 and the latter
with a ratio of 3 : 1 are blended in the ratio 3 : 2. What is the final water : squash ratio in
the blend?

K_L 5:3

A210:9

!('3, 4 :1

<461

Has AN agAqEE F 9T gE-viE 9 O wfte s & v ana
& F RO F W @ 2

India is collaborating with which country to set up a high-speed rail link between Mumbai
and Ahmedabad?

s
/|, Britain
=T
Kz, China
crr )
< 3 Germany
ATl
4 Japan
7= e ae R & ae 9 §2

‘What is the number of squares in the following figure?

v, 5
~<, 8
<3 4
x4 7

Question ID :9864493026
Status :Answered
Chosen Option :3

Question ID :9864492438
Status :Answered
Chosen Option :4

Question ID :9864493736
Status :Answered
Chosen Option :1
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Q.40

Ans

Q41

Ans

Q.42

Ans

Q43

Ans

Q.44

Ans

Q.45

Ans

14,21 3T 351 o0 #4T 87

The LCM of 14, 21 and 35 is:

<170

Xy 7

V'3 210

4. 140
T 7§ ¥ FiF ¥ 9 & FaF FIF e 7 gam 22

Which of the following plant tissues is capable of cell division?
TFellAFEAT

<1 Sclerenchyma
e

KZ Xylem
Frer=aas

“'3 Meristem
Reprgar

2("4‘ Parenchyma

e g Y,

1 1
=7
1+Sind 1=Sind

Solve the following:

1 1
1+5in#d 1=Sind

<1
v, 2Sec*d
<3 2Cos*8
x40

oF = 5ol P

= 7

—4—(-7-12+4) =2
Solve the following.
—4—(—7—12+4) =2

K -2

<o 14

Vi3 6

X4 075

Question ID :9864492662
Status :Answered
Chosen Option :3

Question ID :9864493595
Status :Answered
Chosen Option :2

Question ID :9864492516
Status :Answered
Chosen Option :3

Question ID :9864492679
Status :Answered
Chosen Option :2

2T &3t & IOTTh el 20 é‘l $?-Fﬁ|' ¥ T §Em 1.25 %1 E;H'ﬁ TEAT T %-?Question ID.9864492640

The product of two numbers is 20. One of them is 1.25. What is the other number?

Not Attempted and Marked

<114
v, 16
<3 15
X412

o & & Fia @ o sl 87

"For Review
Chosen
Option :

Question ID :9864493430
Not Attempted and Marked For

Status Review

Which of the following solutions is alkaline?
X [H]=1x10"Mol/l
X, [H']=1x10"*Mol/l
i [H]<1x 10-"Mol/l
X, [H]>1x% 10~"Mol/l
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Question9864494030
@ ID:

Not Attempted and Marked

é]@ Status "For Review
Chosen

l Option :

Iy faw a1 RSt 1 Fael U G START W& ANA THE AT S Fohod & o
I o gher|

Q.46 @l

1

@

4

=

7

@l >

If three groups could be formed using the given figures only once, these groups would be

(1,5,7), (2,6,8) 3 (4,3,9)
#1 (1,5.7),(2,6,8) and (4,3,9)
(1,8,7), (2,6,9) 3T (4,3,5)
75 (L.8.7),(2,6,9) and (4.3,5)
2,5,7), (1,6,9) 3k (4,3,8)
X3 (2.5.7).(1,6,9) and (4.3.8)
(1,5,7), (2,6,9) 3T (4,3,8)
v, (1,5,7).(2.6.9) and (4,3.8)

Q4T = Eh_l'“ Question ID :9864492960
gel &L Not Attempted and Marked For
Status : .
Review
24— [25- {26 (27 - 28 —29)}] =7 Chosen_
Option :

Ans

Solve the following:

24— [25- {26 (27-28—29)}] =7
Ans Xy -2
v, -3
3.1
K4 -1
QB Fg ST TVl 2T BT FT R F AT S 37 T 1.5 AT Questionge 1 19-650

ID:

oYl Brer El_c‘ﬂ:ﬂFl' H IERGE av Hr %‘7 S Not Attempted and
tatus : .
. . . . . Marked For Review
John is 15 years younger than Jill. 12 years ago, Jill’s age was 1.5 times that of John. Jillis  Chosen

now years old. Option :
Ans ?('1. 30
<5 42
<3 45
v, 57
QY PR T T ST O g FAY & AT 9T 90T T & A ¥ e Question ID :9864493391

Status :Answered

Which of the following metals is a liquid at room temperature? Chosen Option :1

RIE

A :
. <1 Mercury
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B
#<,_ Lithium
D
'3 Sodium
Caripr
<4 Calcium
Q.50 Tg_zﬁ ar psrors {m MaﬂT =T R) 9T W&UT * FITOUT ==T0T & Question ID :9864493300

Status :Answered

m@‘qﬁm Eﬂ?—lT % | Chosen Option :1

The acceleration due to gravity at the surface of the earth (mass M and radius R) is
proportional to
M
Ans v 1 Rz
. M
X2 &
. M
<3 ®
<4 MR
QI ET a7 wed W AR F AR Ao o & wed 7 3w & F forw Tew 7 FQliOoseaaoz677
FiT T Fud TITT oyatus sAnswered

Option :

e Ul 3¢ T goldd AT & al cF olig &I el FT aad hdar g2

C3 O
1. YA dleT T T @S g<id 5 e 2
2.?ﬁ?f?~|’l‘€£rq7'cqa?rgm ddd,ﬂﬁ'ﬂﬁﬁdTﬂﬁ?gwd gaid ¥ 20 fharenH
HfeF B

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the weight of ten iron balls if each ball is of the same weight?

Statements:
1. One-fourth of each ball’s weight is 5 kg.
2. The total weight of three iron balls is 20 kg more than the total weight of two iron
balls.
T G HYF 1 g g AT 2

«' | Either statement 1 or 2 is sufficient

IFAT FUT 2 AT ¢ Fafh HFaT 1 FUT 3TATT &
/<, Statement 2 alone is sufficient while statement 1 alone is insufficient

Rl FUT 1 TIATT ¢ Ad(h Aol U 2 JUAT ¢

/3. Statement 1 alone is sufficient while statement 2 alone is insufficient
gl FUT 1 3R 2 gaeg 7

< 4 Both statement 1 and 2 are sufficient
Q.52 Question ID :9864492778
Status :Answered
Chosen Option :2

Ans
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Ans

Q.53

Ans

Q.54

Ans

Q.55

Ans

Q.56

Ans

10 BT & WHE & e @ A@d 20 gl I FAg H § & o Hee
ar W wAHg & e seaT 21 & ST g T TE oI & A g W
STedTehl T HEd TehT 20.6 g AT gl FAE W AT A oIF 3R weg A
AT oA oI F Uredie & AdET #4487

The average marks obtained by a group of 10 students were 20. One student left the group
as a result of which the average of the remaining students rose to 21. But another student

joined, as a result of which the average marks of the group dropped a bit and became 20.6.
‘What were the average marks obtained by the student who left and the one who joined?

w114
X<, 16
<315
X413
FevVUsmas g UWHRasgagdar X, Ustaa g at w, vV sfr

gl

If V is the brother of U, U is the sister of W and X is the husband of U, then W is V’s

X,
eSS/ &I/ ST TT el ATl atEy Aefr (Brother-in-law or sister-
in-law)
Brother-in-law or sister-in-law
TS AT TEA
5 Brother or sister
At
K3‘ Mother
X4,
==/ ATAT HET §EY OF AT == A J3bY §6Y % (Uncle or aunty)

Uncle or aunty

T=ef@a # @ 9 @ gvifeor waAfvas Fwnst w amnia g2

Which of the following classifications is based on atomic numbers?

#Hellg &1 safds aroft (Mendeleev's Periodic Table)
K"L Mendeleev's Periodic Table
3myfdes 3mafes |rol
> Modern Periodic Table
ZaE & €2gd &I @7 (Dobereiner's Law of Triads)
K.3, Dobereiner’s Law of Triads
sifecer &1 =Jeisa T
Kﬂ4, Newlands Law Of Octaves
frell gfene TlieRToT & @ e x =2 3R x = — ¥ o gREd FET B B R
¥ for@r o aFar 87

The two roots of an quadratic equation are given as x = % and x = _?1 The equation can be

written as:
A1 2x-1DBx—-1)=0

o 2x+1D)Bx—1)=0
V3 (2x—-1)Bx+1)=0
Ky 2x+1)Bx+1)=0
S FF s

Sound is a:

Question ID :9864493991
Status :Answered
Chosen Option :2

Question ID :9864493194
Status :Answered
Chosen Option :2

Question ID :9864492716
Status :Answered
Chosen Option :3

Question ID :9864493343
Status :Answered
Chosen Option :3
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TifSs &Y

| Mechanical wave
T a2

/5 Tidal wave

/<3 Electromagnetic wave

AR &
< 4 Surface wave
Q37 &1 # IR P eT P FAT FHel A & -
The rate of change of velocity is called:
aifea
| Speed
Cl
5. Force
cauT

'3 Acceleration

# 4 Momentum

Q38 o o 90 ey Hr gl wsfere & bt oifa & @ 1 afE s9= sw g
Fr 3 freiefer 9f 9 &a & oif & a7 fear @ar & 58 Afae 9% 9g=
H 5 U UG HAY STl FSOT & aedfae i Fhadel 9o o8 & F4
of?

Krishna cycled a distance of 90 km at a certain speed. If he cycled 3 km slower every
hour, he would have taken 5 more hours to reach his destination. What is the speed in
km/hr at which Krishna actually cycled?
Ans X1 18
<215
i3 9
X475
QY Fosw F fow faafaf@a & @ i @1 vgpfas = 1 v Fad a1 A9 87
Which one of the following is the largest source of natural energy to humans?
oher
7#<| Plants

gl
K"z. Earth
oI

™

3 Sun
CIGEDS

4 Animals
Q.60 aﬁ%%w—gﬁr; T A xF AT R

Ans

Ans

If:—: 1s equivalent to 3, then the value of x 1s:

Ans ?{'1. 18
Xy 5
W3 15
X4 4
Q.61

Question ID :9864493279
Status :Answered
Chosen Option :3

Question ID :9864492650
Status :Answered
Chosen Option :2

Question ID :9864493225
Status :Answered
Chosen Option :3

Question ID :9864492462
Status :Answered
Chosen Option :3

Question ID :9864493333
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TogATAEH HEESS THla H _ El
Aluminium oxideis  in nature.
Ferrerat
+', amphoteric
HET
X, acidic
AR
?"\"3, basic
3CTHI
K4, neutral
Q62 37 fashoq & TF Y, AT & 7S =T A@en # 30T 0

BIHEARE

Select the option that would come next in the given figure series.

2L B L
H

Ans

Ans
~1.
.
) +
<o
»
_ e
v
L ]
+
x4,

Q63 dga 7 e Afww grhr Afgar glhr TAHT 2016 F oA Hid AT EH
F AT F g AT o4

‘Which team won the 2016 Champions Trophy Women’s Hockey tournament defeating

Netherlands in the finals in London?
HIT

1. India
=T
Kﬂz, China
srEforar
Kj, Australia
AT
o 4 Argentina
Q64 7fy 5 Bz # el Fxg 7 391 5 e iy Wz F AEAT 10 Hiex 9fy WaE
& S A 3HHT cavT fhaer 272

If the initial velocity of a car is 5 m/s, and the final velocity is 10 m/s in 5 s, then the
acceleration is

Ans

Status :Answered
Chosen Option :3

Question ID :9864494187
Status :Answered
Chosen Option :2

Question ID :9864492259
Status :Answered
Chosen Option :1

Question ID :9864493482
Status :Answered
Chosen Option :4
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Ans

10 #Hrex 9fe 397 ¥
X 10m/s?

1 #Hrex 9 == des
v, 1m/s?

0.1 Frerafa T ass
<5 01 m/s?

5 #Hex gfa == d=s
<4 5m/s?

Q65 g F ¥R, A3RTT BF 54 T2 A @ 3O+ 3T ¥ 300 X< e o=

Ans

e O g 99 1 g o aEfEs e &= &Er W T ar

R. Ashwin of India became the quickest bowler to reach 300 test wickets in just 54 tests.
‘Where was this historic test played?
AFTIL

p=]
«', Nagpur
feeair
#<» Delhi
FreTeRTcT

/<3 Kolkata
FEAR

2

<4 Kanpur

Q66 37 3car T (Answer Figure) T =1l &y =it 92 =9 (Problem Figure) &

Ans

R v & 7 7@ @ 399 3

Problem Figure

A7~

ESES
JAVAE:

Answer Figures

S/ el

A B C D

Problem Figure - TR¥aT ==, Answer Figure - 3caX =
Select the Answer Figure that will correctly fit in the blank space in the Problem Figure.

Problem Figure

A7

KEES
JAVAE:

Answer Figures

S/ el

A B CD
<D
o A

Question ID :9864492240
Status : Answered
Chosen Option :3

Question ID :9864493939
Status :Not Answered
Chosen Option :--
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<3 B
){4 C

Q67 PrefafaT Iy W e ¥ A BT § B BT Ree § @ a8

Ans

Q.68

wE faae werea 22

g F WAAE. CaRT ST #H IS H AT FW AT AT ?

faae 1 : 27, I8 99 # Ia=fEr & ow v 3aEgs 9=t g gl
faarg 2 : 7E, I8 9RT TR F I ToE FT UF Sgade ®iT T 2

Consider the given statement and decide which of the following argument(s) is/are strong.

Statement: Should CBDT abolish income tax in India?

Argument 1: Yes, it is an unnecessary burden on the wage earners in India.

Argument 2: No, it is a good source of revenue for Indian Government.
Fa faare 1 & wae &
#<1 Only argument 1 is strong.
faarg 1 3k 2 = @
<, Both arguments 1 and 2 are strong.
a1 fame 2 & wae B
+'3 Only argument 2 is strong.

faare 1 3tk 2 =t & weea A6 2

/<4 Neither argument 1 nor 2 is strong.

Question ID :9864494294
Status :Not Answered

Chosen Option :--

Question ID :9864493657
Status :Answered

Chosen Option :3
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3ca} Rt (answer figures) & & fRw 71w w@Eam BT (problem figure)dt 9=t

HEE oY #1 =I397 HL

Problem Figure

¢

Answer Figures
TN TN TN TN
J; ’ ﬂ ‘ E I._.. ’ B "'.I I.". ‘ E \",L
\ O / . 0 N\ C / \ 0 ;"r
M ", -~ \H,_:’ > H:_',-/
A B C D

.Choose the correct water image of the given problem figure from the answer figures

Problem Figure

@

Answer Figures

X4B

Q.69 mwmﬂmﬁgmﬁﬁaﬁﬁqﬁ

2l

The Indira Point, the southern point of India, is situated in the
Nicobar Island.

BIEDr)
<1 western

gaofr
5 southern

Feadr

3 northern
&t

LN

Ans

4 eastern
Q.70

o w &g

tip of Great

Question ID :9864492106
Status :Not Answered
Chosen Option :--

Question ID :9864493949
Status :Answered
Chosen Option :2
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(1, 1), (4, 64), (8, 512), (9, 719)
Select the number pair that does NOT belong in the following group.

(1, 1), (4, 64), (8, 512), (9, 719)
Ans Kﬂl, (1, 1)
v, (9, 719)
X5 (8, 512)
X4 (4, 64)
Q7 ux FdrdeT Fr %: Question ID :9864493268

Status :Answered
One nanometer is: Chosen Option :1

10* #reT
¥ 10 m
10" #Arex
Ao 10! m
10°® ez
<3 10%m
107" #Hrex
K4 1010 m
Q72 FEex F ORT T FA-T T T FEHT T 7 Question ID :9864492431

Status :Answered
Which state of India celebrates the ‘Sangai Festival® in November? Chosen Option :1

AR

=

Ans

Ans
«'| Manipur

GI:EEIE

]

Kz‘ Tamil Nadu
HIETH

K3. Assam
TS T

2
2{"4. Gujarat
Q7 foost # & wiwt & fweT ®A 1, 5, 11, 19, 29 & HYeat 22 Question ID :9864494048

Status :Not Answered
Which of the given options is the pattern of the sequence 1, 5, 11, 19, 297 Chosen Option :--

Ans W x24+x—1
Ko x?+x+1
X3 x2—x—1
Ky x2+x-2
Q.74 Question ID :9864493945

Status

:Not Answered
Chosen Option :

24/26



O @
=

OB @

ofg T a1e REt & Fae T 9K 359I a3 i THE §ATC 5T T g ar

TwgE g
D| B
AE0
Blo=

If three groups could be formed using the given figures only once, these groups would be

(1,2,5), (4,7,8) 3T (3,6,9)

Ans
Kl (]12:5)? (478) aﬂd (39699)
(1,2,9), (3,7,8) 3T (4,6,5)
x5 (1,2,9), (3.7.8) and (4,6.5)
(1,2,5), (3,7,8) 3T (4,6,9)
V5 (1.2.5), (3.7.8) and (4,6,9)
(1,2,5), (3,6,8) 3 (4,7,9)
X, (1.2.5),(3.6,8) and (4,7.9)
Q73 Q“esig‘?9864493692
Status ;Answered
Chosen,
Option :
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A ford ue T Hed A gU T8 0T FHRU F sew AfRed &7 @ Fi
T fosey e AT THaT g

YA
Tt Feod Taoe 81 wol fafeeral wwemes 2

IGLEL B
1. T TAEeeS faear &1

2. gaft Fed TAIES |

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All dogs are cats. All cats are bats.

Conclusions:
1. All bats are cats.
2. All dogs are bats.

Faer fashy 1 JTERor AT &
Ans

X, Only conclusion 1 follows

ol ISy 2 FEIOT FIAT &
+, Only conclusion 2 follows

1 3T 2 a1t 3rTEoT Far 2
3. Both 1 and 2 follow

a0 a1 I 2 IFFEOT FAT ©

# 4 Either 1 or 2 follows
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